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四角形


BEANRE SHIGEREHPIR R B S ST H)EREERE I 4
% £ & - BkTE B 2 i ] mE
B R 6, 251, 963
ERERET M 6, 251, 963
ERERET M 6, 251, 963
ERERET M 5, 980, 800
STE R 415, 450
1 StE#E 1.00 415, 450 415, 450
=
CINETILEST 1,757,100
2 BIN/CINEFESEED/ER 1.00 140, 050 140, 050
=%
3SHMMBETILOER 1.00 248, 550 248, 550
=
4 BEMETILORD HME 300 1.00 580, 200 580, 200
247
5 BHEEROEN 1.00 450, 400 450, 400
247
6 HEETILOEH 1.00 337, 900 337,900
=%
BT EJ R 1,717, 500
1 BEFHE HEEET, 6T 1.00 651, 450 651, 450
247
8 EEFRK HEEET, 6172 1.00 826, 300 826, 300
247
I MEISEEH EEEET 1.00 239, 750 239, 750
F—2
B R IREER DIERK 1,156, 500




BEANRE SHIGEREHPIR R B S ST H)EREERE I 4

10 EAREEREENDER 2.00 578, 250 1,156, 500
=]

& - |E 352, 200

11 HaTi5E 1.00 117, 400 117, 400
=]

12 PREHRE 1.00 117, 400 117, 400
=]

13 &#R|E 1.00 117, 400 117, 400
=]

BE 148, 500

14 BE 1.00 148, 500 148, 500
=

R 433, 550

15 EBTRBEER 1.00 433, 550 433, 550
=

(BE#ERE) 271,163

EHRARE 54, 801

16 EHAME 1.00 54, 801 54, 801
=

EBRERE 200, 000

17 £BHEGRE 1.00 200, 000 200, 000
=

k& 16, 362

18 f#& 1.00 16, 362 16, 362
=




s iE % BFSEEHPIRHLILH(T PDEMRE M4
% g R - KSR Bifr 2 il & B W =

B R 5,980,800 + 271,163 6, 251, 963
EEAGE 5,980, 800
EERE 271,163
T DR 5,980,800 x 53.85% ( 35% + (1 — 35%) ) 3,220, 660
RHRIE 6,251,963 + 3,220, 660 9,472, 623
—REEES 9,472,623 x 53.85% (35% = (1 — 35%) ) — 3,630 5,097,377
KBS 9,472,623 + 5,097,377 14,570, 000
HEREELE 14,570,000 x 10.00% 1,457,000
EBEREN 14,570,000 + 1,457,000 16, 027, 000
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&5 :1
&% FrEEE 14y
2 b g - BIRTE By = B ® # " =
HEnE
A 1.00 70, 900. 00 70, 900
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
& Hi 1YE%HeH - 1.00K 415, 450. 00 415, 450
&5 :2
& : BIN/CIMEEETEZED/ERK 1KLY (1K)
2 b g - BIRTE By = B ® # " =
F{EHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
HEm (B)
A 0.50 45, 300. 00 22,650
& Hi 1E%HeH - 1.00K 140, 050. 00 140, 050
&5 :3
W WEETILOER 1xXEY ()
2 b g - BIRTE By = B ® # " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 1.50 45, 300. 00 67,950
AR (C)
A 1.00 35, 600. 00 35, 600
& Hi 1E%HeH - 1.00K 248, 550. 00 248, 550
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Hz5 .4
L BEWMETILOES FHME 300 1484 74Y (1447)
2 b g - BIRTE By = B O ® W = " =
AR (A)
A 4.00 55, 200. 00 220, 800
HEm (B)
A 2.00 45, 300. 00 90, 600
AR (C)
A 4.00 35, 600. 00 142, 400
g
A 4.00 31, 600. 00 126, 400
& B TEZEREH - 1.002 4T 580, 200. 00 580, 200
F5 .5
2% BHEROEH 148474 (144 7)
2 b g - BIRTE By = B O ® W E " =
AR (A)
A 1.00 55, 200. 00 55,200
AR (C)
A 4.00 35, 600. 00 142, 400
g
A 8.00 31, 600. 00 252, 800
& B TEZEREH - 1.002 4T 450, 400. 00 450, 400
&S .6
W HMEETILOER 1Y (1)
2 b g - BIRTE By = B Ol ® W = " =
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 2.00 45, 300. 00 90, 600
AR (C)
A 2.00 35, 600. 00 71,200
& Hi 1E%HeH - 1.00K 337, 900. 00 337,900
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Bz5:1
&% HEHE EFEEI. 6178 148474 (144 7)
2 b g - BIRTE By = B ® W = " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 2.50 45, 300. 00 113, 250
AR (C)
A 3.50 35, 600. 00 124, 600
g
A 8.50 31, 600. 00 268, 600
& B TEZEREH - 1.002 4T 651, 450. 00 651, 450
&5 :8
2% REER #FEET. 61718 148474 (144 7)
2 b g - BIRTE By = B ® W E " =
F{EHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 3.00 45, 300. 00 135, 900
AR (C)
A 6. 00 35, 600. 00 213, 600
g
A 10. 50 31, 600. 00 331, 800
& B TEZEREH - 1.002 4T 826, 300. 00 826, 300
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=:9
£ BIETITEEHY EFEET 145—XHY (5—R)
2 b g - BIRTE By = B 4 ) W = " =
AR (A)
A 1.50 55, 200. 00 82, 800
e (B)
A 1.50 45, 300. 00 67,950
AR (C)
A 2.50 35, 600. 00 89, 000
& Hi YEZEREDN 1,005 —R 239, 750. 00 239, 750
&5 :10
275 BRI EE R OER HEED)
2 b g - BIRTE By = B 4 ) W E " =
F{EHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 3.00 55, 200. 00 165, 600
e (B)
A 2.50 45, 300. 00 113, 250
AR (C)
A 4.00 35, 600. 00 142, 400
g
A 3.00 31, 600. 00 94, 800
& B 1YEZHER - 1.00[E 578, 250. 00 578, 250
&5 11
¥ BATHE HEED)
2 b g - BIRTE By = B 4 ) W = " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
& Hi 1YEZHER - 1.00[E 117, 400. 00 117, 400
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&5 .12
& PRERE HEED)
2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
& Hi 1YEZHEH - 1.00[E 117, 400. 00 117, 400
&5 .13
£ EW|E HEED)
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
& Hi 1YEZHER - 1.00[E 117, 400. 00 117, 400
&S 14
2 BE 15ty
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 1.00 55, 200. 00 55,200
& Hi 1E%HeRH - 1.00K 148, 500. 00 148, 500
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&5 .15
£ EHTERBEEER 1xXEY ()
2 b g - BIRTE BT o = B O ® W = " =
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.50 55, 200. 00 138, 000
e (B)
A 2.50 45, 300. 00 113, 250
AR (C)
A 2.50 35, 600. 00 89, 000
& Hi 1YE%HeH - 1.00K 433, 550. 00 433, 550
&S .16
2% EHARE 14y
2 b g - BIRTE BT H = B O ® W E " =
EXERARE
= 1.00 54,801. 00 54, 801
& Hi 1E%HeH - 1.00K 54,801. 00 54, 801
&= .17
2% EBHRRERE 14y
2 b g - BIRTE BT H = B O ® W E " =
EBHRERERE
= 1.00 200, 000. 00 200, 000
& Hi 1E%HeRH - 1.00K 200, 000. 00 200, 000
= :18
B kB 1xXEY ()
2 b g - BIRTE BT #H = B Ol ® W = " =
g4
= 1.00 16, 362. 00 16, 362
& B 1E%HeH - 1.00K 16, 362. 00 16, 362




